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Outcome 1 - The Order of Operations

Bronze examples

Silver examples

**BODMAS*™

3+bx2=3+10=13
(Multiplication before additionl)
4x8-7=32-7=2b
(Multiplication before subtractionl)
9+16+2=9+8=17

(Division before additionl)
T e

Examples...

"

**BODMAS**
(3+4)x8=7x8=56

(Brackets before multiplicationl)
9x(5-3)=9x2=18
(Brackets before multiplicationl)
(7+13)+2=20+2=10

(Brackets before divisionl)
T e

Examples...

Bronze Questions

Carry out the following calculations ...

L 6+4x3 2
~ B8x3-17 &
& 12:4+11 &
% 5+21-3 8
8 72-8x7 &8

Gold Questions

Carry out the following calculations ...

L 17+781 p)
s J25x6 &
& (12-8)? e
L [(70-6)-8 8
8 23:+(4+5)* 48

The Order of Operations

Gold examples

Examples... **BODMAS**

14+J4=14+2=16

(Orders before additionl)

70 - (5 + 3)? (Brackets firstl)
=70-8*
=70 -64
=6

(Orders nextl)

(Finish with
subtractionl)

ZEA\ ZAA\ — y
T Silver Questions as
g  Carry out the following calculations .. &

16 -3x5 & (B+6)x8 2 (12-8)x6

9x4+12 e 3x(1-7) & 9x(4+3)

14:2-5 & 16:3+5) & 18:(8-2)

19-40+5 Z (19+5):3 8 (25-7):9

60+5-12 8 (2-8)x4 L8 48:(9-3)
i

42 ;2% -

100 + 52

[(43-7)

(37-5)+ 22

87 - (6 + 2)?
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Bronze Answers
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Silver Answers
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Gold Answers
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